
RECINZIONE 
ANTENNE 
TELEFONIACABINA 

ENEL

VIA DEI LIVELLI

X01 X01

E3
3.000 m
501.11 m²
1503.33 m³

E2
4.000 m
1066.67 m²
4266.66 m³

-0.90-0.90
±0.00

-0.90

2852.87 m²

E1
4.000 m

11411.48 m³

 1  2 13

1415

 3

16

 4

 5 6

 7

 8

 910

1112

17

RECINZIONE 
ANTENNE 
TELEFONIACABINA 

ENEL

VIA DEI LIVELLI

X01 X01

+2.60

E4
3.000 m
501.11 m²
1503.33 m³

   1

  10

   2

   3    5

   4

   6

   7
   8

   9

RECINZIONE 
ANTENNE 
TELEFONIACABINA 

ENEL

VIA DEI LIVELLI

X01 X01

1463.98 m²
D1

 5

 8 13 14

15

17

20

24

25

29

30

19

33

16

18

 3 4

 2
26

 1

 7

 6  9
12

2122

32

31

27

28

23

10

11

2852.87 m² 1066.67 m² 501.11 m²

Numero punto    =      1   
Coordinata X    = -71.08 m 
Coordinata Y    =  20.19 m 
Coordinata Z    =   0.00 m 
Codice/stazione =      0   

Numero punto    =      2   
Coordinata X    = -11.37 m 
Coordinata Y    =  20.19 m 
Coordinata Z    =   0.00 m 
Codice/stazione =      0   

Numero punto    =      3   
Coordinata X    = -11.37 m 
Coordinata Y    = -32.61 m 
Coordinata Z    =   0.00 m 
Codice/stazione =      0   

Numero punto    =      4   
Coordinata X    = -36.25 m 
Coordinata Y    = -32.61 m 
Coordinata Z    =   0.00 m 
Codice/stazione =      0   

Numero punto    =      5   
Coordinata X    = -36.25 m 
Coordinata Y    = -31.91 m 
Coordinata Z    =   0.00 m 
Codice/stazione =      0   

Numero punto    =      6   
Coordinata X    = -41.49 m 
Coordinata Y    = -31.91 m 
Coordinata Z    =   0.00 m 
Codice/stazione =      0   

Numero punto    =      7   
Coordinata X    = -41.49 m 
Coordinata Y    = -32.61 m 
Coordinata Z    =   0.00 m 
Codice/stazione =      0   

Numero punto    =      8   
Coordinata X    = -59.34 m 
Coordinata Y    = -32.61 m 
Coordinata Z    =   0.00 m 
Codice/stazione =      0   

Numero punto    =      9   
Coordinata X    = -59.34 m 
Coordinata Y    = -19.74 m 
Coordinata Z    =   0.00 m 
Codice/stazione =      0   

Numero punto    =     10   
Coordinata X    = -66.37 m 
Coordinata Y    = -19.74 m 
Coordinata Z    =   0.00 m 
Codice/stazione =      0   

Numero punto    =     11   
Coordinata X    = -66.37 m 
Coordinata Y    =  11.07 m 
Coordinata Z    =   0.00 m 
Codice/stazione =      0   

Numero punto    =     12   
Coordinata X    = -71.08 m 
Coordinata Y    =  11.07 m 
Coordinata Z    =   0.00 m 
Codice/stazione =      0   

Numero punto    =    13   
Coordinata X    = 12.73 m 
Coordinata Y    = 20.19 m 
Coordinata Z    =  0.00 m 
Codice/stazione =     0   

Numero punto    =     14   
Coordinata X    =  12.73 m 
Coordinata Y    = -24.07 m 
Coordinata Z    =   0.00 m 
Codice/stazione =      0   

Numero punto    =     15   
Coordinata X    = -11.37 m 
Coordinata Y    = -24.07 m 
Coordinata Z    =   0.00 m 
Codice/stazione =      0   

Numero punto    =     16   
Coordinata X    = -11.37 m 
Coordinata Y    = -40.01 m 
Coordinata Z    =   0.00 m 
Codice/stazione =      0   

Numero punto    =     17   
Coordinata X    = -66.37 m 
Coordinata Y    = -40.01 m 
Coordinata Z    =   0.00 m 
Codice/stazione =      0   

SLP D1 (E1+E2+E3) =                     +                    +                  = 4420.65 m 501.11 m²SUPERFICIE SLP D1 (E4)   =                  

Numero punto    =      1   
Coordinata X    = -66.37 m 
Coordinata Y    = -19.74 m 
Coordinata Z    =   0.00 m 
Codice/stazione =      0   

Numero punto    =      2   
Coordinata X    = -59.34 m 
Coordinata Y    = -19.74 m 
Coordinata Z    =   0.00 m 
Codice/stazione =      0   

Numero punto    =      3   
Coordinata X    = -59.34 m 
Coordinata Y    = -32.61 m 
Coordinata Z    =   0.00 m 
Codice/stazione =      0   

Numero punto    =      4   
Coordinata X    = -41.49 m 
Coordinata Y    = -32.61 m 
Coordinata Z    =   0.00 m 
Codice/stazione =      0   

Numero punto    =      5   
Coordinata X    = -41.49 m 
Coordinata Y    = -31.91 m 
Coordinata Z    =   0.00 m 
Codice/stazione =      0   

Numero punto    =      6   
Coordinata X    = -36.25 m 
Coordinata Y    = -31.91 m 
Coordinata Z    =   0.00 m 
Codice/stazione =      0   

Numero punto    =      7   
Coordinata X    = -36.25 m 
Coordinata Y    = -32.61 m 
Coordinata Z    =   0.00 m 
Codice/stazione =      0   

Numero punto    =      8   
Coordinata X    = -11.37 m 
Coordinata Y    = -32.61 m 
Coordinata Z    =   0.00 m 
Codice/stazione =      0   

Numero punto    =      9   
Coordinata X    = -11.37 m 
Coordinata Y    = -40.01 m 
Coordinata Z    =   0.00 m 
Codice/stazione =      0   

Numero punto    =     10   
Coordinata X    = -66.37 m 
Coordinata Y    = -40.01 m 
Coordinata Z    =   0.00 m 
Codice/stazione =      0   

1463.98 m²

Numero punto    =      1   
Coordinata X    = -77.57 m 
Coordinata Y    = -12.51 m 
Coordinata Z    =   0.00 m 
Codice/stazione =      0   

Numero punto    =      2   
Coordinata X    = -67.57 m 
Coordinata Y    = -12.51 m 
Coordinata Z    =   0.00 m 
Codice/stazione =      0   

Numero punto    =      3   
Coordinata X    = -67.57 m 
Coordinata Y    = -40.01 m 
Coordinata Z    =   0.00 m 
Codice/stazione =      0   

Numero punto    =      4   
Coordinata X    = -77.57 m 
Coordinata Y    = -40.01 m 
Coordinata Z    =   0.00 m 
Codice/stazione =      0   

Numero punto    =      5   
Coordinata X    = -74.12 m 
Coordinata Y    = -53.19 m 
Coordinata Z    =   0.00 m 
Codice/stazione =      0   

Numero punto    =      6   
Coordinata X    = -62.47 m 
Coordinata Y    = -53.19 m 
Coordinata Z    =   0.00 m 
Codice/stazione =      0   

SUPERFICIE PARCHEGGI (D1):                  

Numero punto    =      7   
Coordinata X    = -62.47 m 
Coordinata Y    = -47.06 m 
Coordinata Z    =   0.00 m 
Codice/stazione =      0   

Numero punto    =      8   
Coordinata X    = -42.47 m 
Coordinata Y    = -47.06 m 
Coordinata Z    =   0.00 m 
Codice/stazione =      0   

Numero punto    =      9   
Coordinata X    = -42.47 m 
Coordinata Y    = -53.19 m 
Coordinata Z    =   0.00 m 
Codice/stazione =      0   

Numero punto    =     10   
Coordinata X    = -39.12 m 
Coordinata Y    = -53.19 m 
Coordinata Z    =   0.00 m 
Codice/stazione =      0   

Numero punto    =     11   
Coordinata X    = -39.12 m 
Coordinata Y    = -56.19 m 
Coordinata Z    =   0.00 m 
Codice/stazione =      0   

Numero punto    =     12   
Coordinata X    = -35.27 m 
Coordinata Y    = -56.19 m 
Coordinata Z    =   0.00 m 
Codice/stazione =      0   

Numero punto    =     13   
Coordinata X    = -35.27 m 
Coordinata Y    = -47.06 m 
Coordinata Z    =   0.00 m 
Codice/stazione =      0   

Numero punto    =     14   
Coordinata X    = -15.27 m 
Coordinata Y    = -47.06 m 
Coordinata Z    =   0.00 m 
Codice/stazione =      0   

Numero punto    =     15   
Coordinata X    = -15.27 m 
Coordinata Y    = -57.06 m 
Coordinata Z    =   0.00 m 
Codice/stazione =      0   

Numero punto    =     16   
Coordinata X    = -21.62 m 
Coordinata Y    = -57.06 m 
Coordinata Z    =   0.00 m 
Codice/stazione =      0   

Numero punto    =     17   
Coordinata X    = -21.62 m 
Coordinata Y    = -63.19 m 
Coordinata Z    =   0.00 m 
Codice/stazione =      0   

Numero punto    =     18   
Coordinata X    = -74.12 m 
Coordinata Y    = -63.19 m 
Coordinata Z    =   0.00 m 
Codice/stazione =      0   

Numero punto    =     19   
Coordinata X    =  -3.20 m 
Coordinata Y    = -24.07 m 
Coordinata Z    =   0.00 m 
Codice/stazione =      0   

Numero punto    =     20   
Coordinata X    =   0.30 m 
Coordinata Y    = -24.07 m 
Coordinata Z    =   0.00 m 
Codice/stazione =      0   

Numero punto    =     21   
Coordinata X    =   0.30 m 
Coordinata Y    = -40.07 m 
Coordinata Z    =   0.00 m 
Codice/stazione =      0   

Numero punto    =     22   
Coordinata X    =  -3.20 m 
Coordinata Y    = -40.07 m 
Coordinata Z    =   0.00 m 
Codice/stazione =      0   

Numero punto    =    23   
Coordinata X    = 17.84 m 
Coordinata Y    =  2.06 m 
Coordinata Z    =  0.00 m 
Codice/stazione =     0   

Numero punto    =    24   
Coordinata X    = 21.32 m 
Coordinata Y    =  2.41 m 
Coordinata Z    =  0.00 m 
Codice/stazione =     0   

Numero punto    =     25   
Coordinata X    =  23.04 m 
Coordinata Y    = -13.50 m 
Coordinata Z    =   0.00 m 
Codice/stazione =      0   

Numero punto    =     27   
Coordinata X    =  18.27 m 
Coordinata Y    = -15.02 m 
Coordinata Z    =   0.00 m 
Codice/stazione =      0   

Numero punto    =     26   
Coordinata X    =  19.56 m 
Coordinata Y    = -13.87 m 
Coordinata Z    =   0.00 m 
Codice/stazione =      0   

Numero punto    =     28   
Coordinata X    =  19.84 m 
Coordinata Y    = -29.56 m 
Coordinata Z    =   0.00 m 
Codice/stazione =      0   

Numero punto    =     29   
Coordinata X    =  24.56 m 
Coordinata Y    = -28.06 m 
Coordinata Z    =   0.00 m 
Codice/stazione =      0   

Numero punto    =     30   
Coordinata X    =  24.88 m 
Coordinata Y    = -31.21 m 
Coordinata Z    =   0.00 m 
Codice/stazione =      0   

Numero punto    =     31   
Coordinata X    =  26.33 m 
Coordinata Y    = -45.27 m 
Coordinata Z    =   0.00 m 
Codice/stazione =      0   

Numero punto    =     32   
Coordinata X    =  11.25 m 
Coordinata Y    = -50.41 m 
Coordinata Z    =   0.00 m 
Codice/stazione =      0   

Numero punto    =     33   
Coordinata X    =   9.70 m 
Coordinata Y    = -36.07 m 
Coordinata Z    =   0.00 m 
Codice/stazione =      0   

VOLUME VIRTUALE D1 (E1+E2+E3) = 11411.48 m³ +  4266.66 m³ + 1503.33 m³ = 17181.47 m³ VOLUME VIRTUALE D1 (E4) = 1503.33 m³

Procedura SUAP - ART. 8, DPR 160/2010
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